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0. 9.
Q. No. _ Question Answer Options
L. afifeR S Migaex &1 ¢ BT A 1°
The least count of vernier bevel protractor is B. 10’
C. 1’
D. 5°
2. g dsadT .............. R S11 STl 3 A. HHT/ Concrete
Marking tables are made up of B. S¢®H / Aluminum
C. 15/ Granite
D. ST H 4 BE T
None of the above
3, iR SIR GRT WYY TR dad, GBF Wd U3H| A. 25.28 i /mm
25f. 3R 28 af iR TuF 8T Wha § §d &var| B. 25.14 B H/mm
21 aftfas &1 ofive ®1de 0.02 o, §1 Ao & C. 25.56 fadil./mm
During measurement using vernier caliper, the main| D. 25.00 fLHl/mm
scale reading is 25mm and the 28" vernier division
coincides with the main scale. The least count of the
vernier is 0.02 mm. The measurement is
4. FufdiEd oo &1 wanT A9 & AXF Usa ¥ 98| A, T8 WRR/ Try square
PRAPH S RUETMS B. ¥PIER / Seriber
The following tool is used for setting the job| C. §aq Wicaex / Bevel protractor
concentric to the machine Spindle D. Hdg Tﬁ!Gr[ Surface gauge
5. M12 ISO Hicsh @ 51 &1 fUd.......... - A. 1.75 B8 /mm
The pitch of M12 ISO metric coarse thread is B. 1.00 4t /mm
C. 1.50 At /mm
D. 0.80 & Ht/mm
6. S ) ISplad gd- & U Sid BT ybsy 2g| A. 39 9H /3 jaw chuck
{rgferiEd usi o1 I §iar g1 B. ®Idie = / Collet chuck
To set the work run eccentrically, the following| C. 4% € /4 jaw chuck
method is used to hold the job D, IR B T8

None of the above
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U9 BE IR fded
Q. No. |. Question Answer Options
7. SIESCAIEE EIMEIECE] A.
Side cutting edge angle is depicted in P !
S LT
C.
D‘ E
3. T 5w WY B! e o 55 Ml § F1Hss| A, 190.98 SIR.G TH.ipm
oot frgest wféTr wite 30 Hiex it fiFe § )1 @M | B. 1909.8 SR TH /ipm
& forg fefeq wits grml C. 530.52 3R.YL.EH./rpm
The spindle speed to turn a mild steel rod of| D. 5305.2 3R.ULTH./rpm
diameter SOmm using HSS tool with a cutting speed
of 30 meter per minute is
9, UK FIRUEE DI A. TS Wi / Mild steel
Lathe bed is made of B. 9% <l Cast iron
C. TIEeHaH / Titanium
D, GI?{IFﬂT‘ITf / Aluminum
10, Profafaa & 4 o1 o1 ST T o1 verd Tl 8 A. IURHR DI ST I
Which of the following is not a function of cutting To cool the tool
fluid B. T o) weRr B
To flush away the chips
C. g 3R Iu=d & Hag ¥ geu
&) GTal HRAT

To increase the friction
between the chip & tool face
B I B! S8 AT

To cool the work piece

I

.Wﬂ?%wnﬁé?fﬁqmwﬁﬁﬁmaﬂ

Jua faar sar g1

For hard and tenacious material which type of drill is
used

Sowp

NUSR/ Type N
HUPR/Type H
SUBR /[ Type S
S # A BIE 61

None of the above
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0.9 L] TR fdeped
Q. No. Question _ Answer Options
12. 3] alg iR & Q1Y TGl PR & &G Bl G| A. IR/ Reamer
3R 98T T3 FT g forg FoRe I B. €I/ Boring tool
The multipoint cutting tool which is used to enlarge| C. fdawe {e/ Twist drill
and accurately size hole with good surface finish D. SR H T PS Tl
None of the above
13. sialew el & forg, Al warem 9 ugd &a &1 A. 981 ¥/ Major diameter
N ... 99 g1 916t B. Y o/ Minor diameter
For internal threading, the hole diameter to be drilled| C. TRfde IR / Effective
before threading operation is equal to diameter
D. 3Td g/ Average diameter
14. WG IR SMdR® TR e+ & fore frw TR e 9fd| A, dgaa Re1dfa
P IUANT 81 fohar i1 Taber| Compound slide method
The taper turning method which cannot be used for| B. ¢OR i daus
internal taper turning on a lathe Taper turning attachment
C. 30 W e A
Tail stock offset method
D. IRa Y B el
None of the above
15, (TR 3[IUT 1:6 foar T €1 YA Wbl gHIS, B0 A. 1/6
BT RRET ..., BAT B. 1/18
The taper ratio is given as 1:6. The tangent of the! C. 1/12
compound slide swivel angle is given as D. 173
16.  |qeiBA B (c-2) A =
Evaluate (é - —;~) B. %
‘ 2
“4
D. P
17. HIfRARE U H Fufifea v A S o agi gian | A, 97 AW/ Square head
A combination set doesn’t contain which of the| B. $¢/Rule
below part C. Wicaer oy
: Protractor head
D. Eﬁ?f‘flﬁfl Dial gauge
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Q. No.

us
Question

I T@ed

Answer Opftions

18.

Frafafed & 4 219 @ uivica gsa 8|

Which of the following is a positive drive

vaow

B TiC 9¢¢ Ed

Cross flat belt drive

Y gI54 / Rope drive
ql-sec g3/ V-belt drive
<+ §I¥d / Chain drive

19.

TRIE (o) W A-KSS e s B Y fopdy e
T IUANT faa oITer 81

Which operation on a lathe is used for making non
standard holes

SEeN- IS

. T8/ Dritling

&t / Reaming
Clical; Boring
JUIH H I s ol

None of the above

20,

Tl wie g8, dls..... &y gl

In a multi start thread, the lead is equal to

EEREINGREIR:C
Pitch + number of starts
0=/ 91 819 @t e
Pitch / number of starts
O - 91 819 &1 =
Pitch — number of starts
CEPEIFGEEIRE
Pitch x number of starts

21.

sAR o ¥ A9 H ST o ol g

3 wire method is used to measure

Qw e

Y oY / Minor diameter
3] N/ Major diameter
RIS ™

Effective diameter
SR & BIS T8

None of the above

22.

Newton is the unit of

SESR S

31/ Distance
ald / Pressure
91/ Force

Sl / Energy

23.

50 , 70 37X 120 FT TS ATeAT 5
The arithmetic mean of 50, 70 & 120 is

Cnwe

120
240
100
80
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U 9. U SR fqhey
Q. No. Question Answer Options
24, T & Uy @’ SR FO 1 B @ F o A. FADET T & &7 FaT
For a square of side ‘a’ and circle of radius ‘a’ - Area of circle is greater than
area of square
B. T H1ETTTF &9 4 1l 5|
Area of square is greater than
area of circle
C. gﬁ &1 8 3R g9 HT &9 99
|
Area of the square and circle
are equal
D. IWiad H GBS 78]
None of the above
25. YW T &1 3 B ... gl A. 60°
The internal angle formed in a pentagon is B. 72°
C. 45°
D. 120°
26, |uw gu o1 Pisa W et gaiw o7 A 240 A R| AL 1,922 m?
3R B 2.4 Thex 0 I &meher a1 g B, 11.52zm’
The area of the sector of circle that has an arc| C. 2.88mm’
measuring 240 degrees and a radius of 2.4 m D. 3.84nm’
27, |uP WE foret s 9 W 4 981 UG §9 § SR, 4, TEN/Driver _ 10
76° fis B g FreA  fore IR wewma 7 gy {Epriven 70
..... g B- Rewjoriven — 70
The change gear ratio to cut a thread of 7/16” lead C SRR /Driver _ 70
on a lathe with lead screw of 4 threads per inch " fgad/priven ~ 40
D GigaY /Driver _ 70
" {g9d/Driven 80
28. YR 718X FHaR HI P DUl A. FBUTHS / Negative
For heavier depth of cut, the rake angle is B. R/ Zero
C. UPRIHD / Positive
D. SWRIad § ¥ $5 gl / None of ,
the above '
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. 9. e I fdpe
Q. No. . Question Answer Options
29,  |9fe D ST g § OIR 4 Ve U § SR L BH| 4 oD
1 el T © 3R < TW G §1 20 Wi T by,
Tt A gy 2w e & for offwdie ... B T
If ‘D’ is the bigger diameter, ‘d’ is the smaller ¢, L-Dx!
diameter, ‘L’ is the total length of job and ‘7’ is the - X 1
taper length. The offset for taper turning by tail D. T
stock offset method is given by
30, ProfefEs 3§ 99 9 yR urg 91 87 A. BFIR™T ) Magnesium
Which of the following is the heaviest metal B. 3[BT / Aluminum
C. e/ copper
D. e/ lead
31. U1d P Pled TIT AT AT I Uy T B A, HIE B1eY
I & P ...000e Pga gl Cold hardness
The property of a material to resist sudden load| B. IS g
during metal cutting is termed as Red hardness
C. THIH
Toughness
D.
Brittleness
32. TITISIRT &) UTHTT B A. TS x IR BIE BT &AHA
Stress is defined as Load x area of cross section
B. §tix ¥HY
Force x time
C. ddx @
Force x distance
D. ﬁg/mwmeﬁw
Load / area of cross section
33. fafafad § & o g ST 9mdl gl A. I AT
Which of the following is a non metallic tool High speed steel
material B.
Ceramic
C. Ied Bl Wi
High carbon steel
D,
. Stellite
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7. 9. oy IR fghey
Q. No. Question . Answer Options
34. g HazA 7fd 40 Hiex URIFE § 9iR ST BiS] A. 3.14 PFe/minutes
0.5 Ut aui §1 S &1 v el ora! e 400| B. 5.41 fFe/minutes
Hiex ok oI 50 1A @ W @ qof we ¥ fom| C. 1.25 Be/minutes
{Tages Guy e v D. 1.53 fMe/minutes
If the cutting speed is 40 meter per minute and the
-|tool feed is 0.5 mm per revolution. The time
required for one complete cut on a piece of work
400mm long and 50mm diameter is
35. %rmma:%'@%q@fﬁﬁaﬁx@amﬁ%qwﬁg A. 6
| B. 3
Generally hand tap set consists of following number| C. 1
of taps D, 2
36. R X IR ..., % forg Sugaa A. ST Pl UDHE
A steady rest is generally used for Holding the tool
B. W9 ok YA 1 g & T
fo T
Support for turning long &
slender workpeice
¢, Iors o
Eccentric furning
D. SR g% B TR
Clamping of workpeice
37. =i & HaR& U™ A ........... gl & A, TRF @R SUERUl H1 IR
Preventive maintenance of machine involves e
' periodic inspection of machine
and equipment
B. JAGH IS & HTIR Q&1
lubrication as per manufacturer
instructions
c. TR &t afdRim ok 7 g
servicing & overhauling of
machines
D. IWiw g4t
all of the above
38. HIAaR 3 A. BRI BT SR
Follower rest Follows the workpiece
B. QGUIH BT HJHA
Follows the tool
C. ERIq YR YT 3l
Fixed to the lathe bed
D. ¢3¢ W& W 3faa

Fixed to the tail stock
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. 9. el FR faehed
(). No. Question Answer Options
39, iafer S F Y P AU B SUYEd ANG| A. ATURR SRR
JUEn Vernier caliper
The standard tool used to measure the diameter of an| B. Uld fag efiale RIECALCA
internal recess Five point internal micrometer
C. S s
Dial gauge
D. A forg afiaikes WIghieR
Three point internal micrometer
40. ;e foed &1 g A 9 ... TR ONST SiIT| A SITHORD / Adhesive
g B. af%?TIWelding
Generally tool bits are joined to the tool shank by C. 9Idl 86/ Silver brazing
D. HiesiA/ Soldering
4. | e F R .. B A [Oloa
In drawing, cylindricity is represented as ’ :
B. {©|o1 jaA
c. {]lox|aA
D. |{y| o1
2. %?Waﬂﬁm‘r’aﬂ?wé‘h’%mw A, TR
....... I 32h.
Volume of a cone of base radius ‘r’ and height ‘h’* is | B. m~2
C. nr?h
arih
D. =
X S ko £ s SR Bi g A. SOOI x 3MTTcH
Density is defined as Mass x volume
B. GQOIHM / ARIAT
- Mass / volume
C. SHHH + Sdd
Mass + volume
D. soqd- - fdT
Mass — volume
44, 500 HIZHM .covneeeee. & T8 A. 0.2 i /mm
500 microns is equal to a B. 0.2 4dl/cm
C. 0.5 di/mm
D. 0.5 §/em
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Q. No. Question Answer Options
45, Frafafad el 7 3 e o1 oo 99 I $| A Rfom
feru fasar s %‘F Titanium
Machining of which of the following material| B. SWRIH WieT
requires less cutting force Stainless steel
- : C. fegHiH
Aluminum
D, G9F Tl
Cast iron
46. ﬁaﬂ%@aﬁ@rﬁm%ﬁ%(@ﬁmﬁm A. TR |
fafer o Sugh 8 fasar o war § Mineral oil
Which of the below lubricant cannot be used in{ B. W/ Grease
splash method of lubrication c. sl (Rfew) aa
* Synthetic oil
D. WO 99 (31 de)
Animal oil
47. qHS (37 T forg FHI0L...... B A. 90°
The point angle for a standard drill is B. 118°
C. 108°
D. 125°
48, dtder IR &1 IughT T MK & g FHof & YON0T| A, GHFRR / Parallel
& o TERT BT 3 S v Bid g1 B. UE - 3M&71G/ Co-axial
Bevel gear is used to transmit power between shafls| ¢, U P TR/ At an angle
which are : D. SWFE A F o 980
None of the above
49. e d T eI A ug R A ISR R 2 A. S/ Jarno
Which of the following terms are associated with| B. TR/ Morse
taper C. ¥4 =Y/ Brown & Sharpe
D. TWRIe i/ All of the above
50. L IR o1 Ay 51 A A sikaw
Brass is an alloy of Tin & copper
B. 3fegHH q HIzay

Aluminum & Magnesium

R i
Copper & zinc

ferafie
Tin & Zinc
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Q. No. Question Answer Options
51, Fefaf@d § 3 9e § FR Iuw il g A, HSS
Which of the below is the hardest tool material B. FEES/ Carbide
C. RRIfA® 1 Ceramic
D. §RT/Diamond
52, 9 yarer o § Ty o S feisw du aifeul A. g8 BWRA
Which of the below operation requires higher Thread cutting
spindle speed ' B. S/ Boring
C. 3if#T/ Reaming
D. <fURW Tapping
53. f5e THR B TG BT WIN IEA P 7 [ SIT| A. 5 G0/ Centre lathe
gl ' B. 9@/ Bench lathe
Which type of lathe is used for production work C. 3UID B8 Wil / Tool room
lathe
D. 0% d GIT WaRT/ Capstan
and turret lathe
54. PraffEd § § S99 TEdeRd FRIaeiacy) § A 2597
Which of the below is a bilateral tolerance +0.1
B. 25+02
+0.1
C. 25-02
+0.0
D. 25+02
55, |50%007 O TRIANEIEEE) oo 3 A. 0.02
+0.01 B. 0.04
Tolerance of 50-0.02 is C. 0.01
D, 0.03
56. 6 % BT H fre Ybsu Bl A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
| D, 2160
57. 100 7. o9 @ B9 & Il eFT A T @) A 20 AHl/mm
i frat St wvg §, =il o faal. =) B. 10 A Hl/mm
@1 o fopa S b 1 _ C. 5 f{f/mm
In eccentric turning of a rod of 100 mm diameter,| D. 15 A4l /mm

what is the maximum possible eccentricity at which
a diameter of 80 mm can be turned
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Q.No. | Question Answer Options
58. U wg o 98 W 240 LA &7 R0 § 9 A, 60 ALHL/mm
I by oI B JHIA F Iohll 5 B. 120 il /mm
A lathe having a swing over bed of 240mm can| C. 240 FLHl/ mm
accommodate a component of maximum diameter| D. 480 r.dl/mm
equal to
59, TP RIS TR e 561 U= $ d9IG o9r $) 98] A. BRI/ Facing
S B. YUR T/ Taper turning
An operation on lathe where the diameter is| C. fHT/Reaming
increased after operation is D. @A/ Knurling
60. 3% g e ... & GRT I Y STl A. T/ Turning
High surface finish is obtained by B. fofeiT/ Milling
C. ﬂlg!é‘l/(}rinding
D. WfUT/ Lapping
b a%/Rough work
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The question paper is in the form of test bookiet. All candidates will be assessad en identical questions.
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Read the instructions on the OMR sheat carefully. Use only Bail Point Pen (Black or Blue} for wiiting/ shading/ bubble on
OMR sheet and marking your answers..
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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On completion of
the test tear the OMR Answer sheat along the parforation mark at the top and handover the ariginal OMR answer sheet to
the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text andfor figures wherever applicable with multiple answer choices {a), (b},
{c) and {d). Only one of them is correct.

5. G oy vl F e o g1 o) S & R 99 oi Ruwe?, Java A Ry ok, e I % o uw sfw i
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All objective lype questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for
wrong answer. Multiple answers for a question will be regarded as a wrong answer.
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S 31 T I AT, SRR B i 8 Rt s

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory tc be written
on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.
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Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.
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AR T gl ‘

Before signing the atiendance sheet, the candidate should write the Booklet Code in the atiendance sheet, Candidales
should sign against THEIR names only.
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Q. No. Question Answer Options
1. |l BT Iopiad Gaq & U S @ 9HSt §d| A. 3 9@/ 3 jaw chuck
Frafelad yaia o 3ud glar g B. ®ide @ / Collet chuck
To set the work run eccentrically, the following method| C. AGTd&H [ 4 jaw chuck
is used to hold the job D. JUlad BIg T8l
' None of the above
2. |t S Wi ol oRdT oy 55 § B HsS ga| AL 190.98 IR ULTH.Apm
forget feT e 30 Hiex vl e & 51 g9H & forg| B. 1909.8 SIR.ULTH.pm
e i ghm C. 530.52 RYL U /rpm
The spindle speed to turn a mild steel rod of diameter| D. 5305.2 3R.UW.TA/rpm
50mm using HSS tool with a cutting speed of 30 meter
per minute is :
3. IM12 180 Aicd R I3 FT U .. ... ] A. 175 /mm
The pitch of M12 ISO metric coarse thread is B. 1.00 il /mm
C. 1.50 FLHl/ mm
D. 0.80 frAl/mm
4. | afofR 499 Micaex @ ORE Hge A 1°
The least count of vernier bevel protractor is B. 106~
c. 1
D. s’
5. |urgs Sic e v Rk gl A.
Side cutting edge angle is depicted in g }
ST
C. %
D. \D
6. |HfBTeEA D ... GRT SR STl g1 A. HERIT/ Concrete
Marking tables are made up of B. S/ Aluminum
C. UFTEET/ Granite
D. SR T 9B gt

None of the above
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AR e TR fdbeq
Q. No. | Question Answer Options
7. |Frofafea & 3 o1 ar $iEn wd & yerd T8l o A, SUR B ST T
Which of the following is not a function of cutting fluid To cool the tool
‘ B. foreg pl e e
To flush away the chips
c. Fau siR IR & wag o oy
DY STel BT
To increase the friction
between the chip & tool face
D. B qeg Bl dST b1l
To cool the work piece
8. [WUET ...ooeee GRI ST ST 5 A, TR WA/ Mild steel
Lathe bed is made of B. 9@ digl/ Cast iron
C. eref¥an/ Titanium
D. 3fegHIAH / Aluminum
9. |aftfer HAR gRT AUOT A dod, YA Wba Uod| A. 25.28 HL/mm
o5t 3R 28 @i 9ffR TuIT JoT Tha ¥ A B3 81| B. 25.14 Wdl/mm
gfofar @1 eike arde 0.02 frdl. g1 A § C. 25.56 Tl /mm
During measurement using vernier caliper, the main| D. 25.00 Bl /mm
scale reading is 25mm and the 28" vernier division
coincides with the main scale, The least count of the
vernier is 0.02 mm. The measurement is
10. |Fafef@d gar o1 N Sig S TR [Risa § 98 Siad| A, T8 R/ Try square.
T & UG 8 B. EhIGE / Scriber
The following tool is used for setting the job concentric| C. Sdd Uledex / Bevel protractor
to the machine spindle D. Idg TS/ Surface gauge
1. |wRre W sfiale TuR e & R fw Swr el dfd 1] A, dga wa dfa
QU g fdvar o gl - Compound slide method
The tapér turning method which -cannot be used for| B. €W e T
internal taper turning on a lathe Taper turning attachment
C. T30 W Apye A
Tail stock offset method
D. SR XY PIS ol

None of the above
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7. 4. ) S fapey-
(). No. Question Answer Options
12. |1freqeH Te O Fufiea um 9 @ - gl A. T 2N/ Square head
A combination set doesn’t contain which of the below| B. &/ Rule
part C. Uieges i
Protractor head
D. SEd TS / Dial gauge
13. |20 3fJUTd 1:6 1381 T 51 WA WG AR S0 H1| A, 1/6
AT ... Rl | B. 1/18
The taper ratio is given as 1:6. The tangent of the] C. 1/12
compound slide swive] angle is given as D. 173
14, [Hedl @ de W, dfis..... & 9T g A. 109 + 91 81 &) 9B
In a multi start thread, the lead is equal to Pitch +number of starts
B. 09/ =87 &1 em
Pitch / number of starts
C. o - are g &) e
Pitch — number of starts
D. U x 3 8 & T
Pitch x number of starts
15 | qetie Yl - 2) A =
101 2
Evaluate G-2) B. .,2;
C. ::1;«2
D. =
16. | attafver enfeat & ferg, il geiaT @ uge 9¢ o G| A. 81 RT/ Major diameter
.. O g wifgu B. @Y T/ Minor diameter
For internal threading, the hole diameter to be drilled; C. ardfd® =R/ Effective
before threading operation is equal to diameter
D. 3RId Ry / Average diameter
17. | 1S (Sa) W -8 3¢ 91 & o e vramer &1| A, FERRT/ Drilling
JUgnT fopa Sirdl g B. 0/ Reaming
Which operation on a lathe is used for making non| C, { Boring
standard holes D. QWG o Y Hig Tl

None of the above
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a9, Yy I fiwe ‘
). No. Question : Answer Options
18. [Tk 3R ze gl & o 59 weR & fga o1 A. NTPBR/Type N
fopar STrar 81 B. H &R/ Type H
For hard and tenacious material which type of drill is| C. S HPHR/ Type S
used D. JWRidd A ®lS 15l
None of the above
19. |31} waig TOpf & T WEt SR & &% B 9 3R A, IHX/ Reamer
TS F3 DI 9 (67 B ITEHL B, §ifAT e/ Boring tool
The multipoint cutting tool which is used to enlarge and| C. fawe {ga/ Twist drill
accurately size hole with good surface finish D. SWRiad d Y B3 ot
None of the above
20. |FPafdfaa § Y oA S ufsfca gra gl A. T TIT S Eg
Which of the following is a positive drive Cross flat belt drive
B. W@%H!Rope drive
C. dl-deT SB[/ V-belt drive
D. o gIgd/ Chain drive
21 (FafrRad I se g Ui arg @ 82 A. TTFIREH / Magnesium
Which of the following is the heaviest metal B. &P / Aluminum
C. dIEI/ copper
D. WS/ lead
22, 13 aR AR %Wﬁmﬁ\'ﬂ]—cﬁ%l A, Y & / Minor diameter
3 wire method is used to measure B. 98T/ Major diameter
C. argifas s
Effective diameter
D. SRIG Y G DIs 7]
None of the above
23. | eyt H 97 SHfARe BI......., B A. 60°
The internal angle formed in a pentagon is B. 72°
C. 45°
D. 120°
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0.g e IR fdpeq
Q. No. Question Answer Options
24. [ TR1E forge! ofs T R4 gl Uld S B QU WR 7/167| o SER/Driver 40
s Pt gEt F1ed o R weama # orgoma .. gmmy | Eybren 70
The change gear ratio to cut a thread of 7/16” lead on a} B. T priven 70
lathe with lead screw of 4 threads per inch GISa /Driver 70
e f?;\'EI:f/Driverl T
D gIRdY /Driver - 70
* feFi/priven 80
25. |t & uref <o SR ga &1 AT @ & ferg A. G 8T Tl & &3 ¥ ST B
For a square of side ‘a’ and circle of radius ‘a’ Area of circle is greater than
' area of square
B. 9 &1 & g9 F &7 U T 2
Area of square is greater than
area of circle
C. gﬁ Bl & 3R g o1 & g
I
Area of the square and circle
are equal
D. e H Fopls el
None of the above
26. [T D IS I § 3R’ DT 0 § 8l L S BT , O-DX L
| |p9 darg § &R o AW ofarg §1 0F W st T p_dx
Al gRT e o & e siftede ..., 8| B =
If ‘D’ is the bigger diameter, ‘d’ is the smaller diameter,| ¢ £-9DX!
‘L’ is the total length of job and ‘7 is the taper length. (- x 1
The offset for taper turning by tail stock offset method| D- T
is given by
27 18T v W?{ﬁ_d%i A. {\FI/ Distance
Newton is the unit of B. BId/ Pressure
C. 9t/ Force
D. &l / Energy
28. |50, 70 3R 120 BT TS AT | A. 120
The arithmetic mean of 50, 70 & 120 is B. 240
C. 100
D.

80
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U Y. uy IR fdeseq
Q. No. Question Answer Options
29. | I} T PR BT ID B0 B A. FBUNTHS / Negative
For heavier depth of cut, the rake angle is B. YA/ Zero
C. YPRIHE / Positive
D, IR 7 8 B 781/ None of
the above
30. WW@T%@T@@WWWW24OW% A. 1.92z m?
3R FAsar 2.4 Hiex § O ST She 1 B B. 11.52nm’
The area of the sector of circle that has an arc measuring; C. 2.88x m’
240 degrees and a radius 0of 2.4 m D. 3.84m m’
31. |vfosa @t a8 A. TS x ST BIC BT §TFA
Stress is defined as IL.oad x area of cross section
B. d¢ x 9HY
Force x time
C. ddlx QF\PF
Force x distance
D. WIS/ IR BIE & YAHT
Load / area of cross section
32. | 83 o Qe A ufafda ven i cawafag g1 | AL 6
Generally hand tap set consists of following number of| B, 3
taps Co1
D. 2
33, [UHR: g Reu P UH U ... GRISISIGIA 81 | A, {TESIP / Adhesive
Generally tool bits are joined to the tool shank by B. 3&%’“ /Welding
C. dlaI suH/ Silver brazing
D. WS/ Soldering
34, | e YH: . & oy SugeRT A. TUEHR Bl Gdhgr
A steady rest is generally used for Holding the tool
B. ®d R yael SR axg & T
ISESEUG]
Support for turning long &
slender workpeice
C. g T
Eccentric turning
D. P K BT FRIMT

Clamping of workpeice
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0.3 Ty IR fqaen
Q. No. Question Answer Options
35, [Fyflad & oI i urg Iuws? wadl g1 A. I W
Which of the following is a non metallic tool material High speed steel
B.
Ceramic
C. 3ol Bl LI
High carbon steel
D. ¥R
Stellite
36. |afe TR TIRT 40 Hiex ufafire & ok SR wis 0.5, A. 3.14 fFe/minutes
O 90 ¢ 1 9 &1 TFH o foria! daTs 400 Mex 3R | B. 5.41 FFc/minutes
= 50 A § ut v quf we & g sigvae gwg| €. 1.25 Bdminutes
e BT _ D. 1.53 fF¢/minutes
If the cutting speed is 40 meter per minute and the tool
feed is 0.5 mm per revolution. The time required for one
complete cut on a piece of work 400mm long and
50mm diameter is
37, [Pl T A. BT G BT P
Follower rest Follows the workpiece
B. JUIHY B JHIHA
Follows the tool
C. WRIE AN U 3
Fixed to the lathe bed
D. ¢5d WP W 3
Fixed to the tail stock
38. |U1g I Bl YHY AP dis Bl Ufddy B T 9| A, BIS g
& o Bl Fed o Cold hardness
The property of a material to resist sudden load during| B. Y8 g8~
metal cutting is termed as Red hardness
C. THIY
Toughness
D.
Brittleness
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9.
Q. No.

st
Question

I [dFHeg

- Answer Options

39,

A& ARG ST H ... MRk

Preventive maintenance of machine involves

A @R Quaw &1 Srafe
raror

periodic inspection of machine
and equipment

. TUGH A=Y & SFIUR e

lubrication as per manufacturer
instructions

. FEH ) AfdRiT ok gl TRwd

servicing & overhauling of
machines

. SWigd gl

all of the above

40,

Hidfver G9 & S & WU 3 IUYdd D SURHY
The standard tool used to measure the diameter of an
internal recess

CIUERE N

Vernier caliper

Five point internal micrometer
S I

Dial gauge

i farg sifafier gl

Three point internal micrometer

41.

IR TC SR gidr el

Density is defined as

GOUHIA x 3IAdH
Mass x volume

SoOHT / ST

Mass / volume
S odHT + T
Mass + volume
T - A

Mass — volume

42,

Frafcfad arell 3 4 foad ov av der vl & fau
oo s g1

Machining of which of the following material requires
less cutting force

Rrio
Titanium
STRIY] €
Stainless.steel

SEgHI

Aluminum
g digl

Cast iron

43.

FofaRIa A QDN ¥ 9 SR A YeiRa g 7

Which of the following terms are associated with taper

Sowe

ST/ Jarno

1/ Morse .
137 9 ¥4 / Brown & Sharpe
JWRIeRT GHI 7 All of the above
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U9 Uy IR fdaed
Q. No. Question Answer Options
44. |9 fod FT fag HI...... B A, 90°
The point angle for a standard drill is B. 118°
‘ C. 108°
D. 125°
45. |Fafaigd 7 9 o9 985 31 9 (Hber) Bl W= A, @S dd
fafer & Syt =gt {5 o 9%ar g Mineral oil
Which of the below lubricant cannot be used in splash| B. URI/ Grease
method of lubrication C. gsadt (RRifea) da
Synthetic oil
D. WO da (i Hd )
Animal oil
46. | iy foraet 99 Bieam v SR TW g b § @7 S ... | 4 m0R
&! S
}
Volume of a cone of base radius ‘r* and height ‘h’ is B. WZ- :
C. mr?h
wrih
D. =
47, |dtae FTRR &7 IuEhT U0 29e & o9 Soll & TUY0 &| A, THHIR / Parallel
T UM BT g SN ooy &G B. ¥g - &/ Co-axial
Bevel gear is used to transmit power between shafts| ¢, U% BT U/ At an angle
which are D. SR H Y HIE T8
None of the above
48. |G oo, T TR B A. e o am
Brass is an alloy of Tin & copper
B. Hd
Aluminum & Magnesium
C. a3k i
Copper & zinc
D. fev1 9 fiep
Tin & Zinc
49. [500 TEHH ........... & FAA B A. 0.2 i f/mm
500 microns is equal to - B. 02 ¥ /em
C. 0.5 fd/mm
D. 0.5 ¥Hl/em
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o . Y IR fasey
(). No. Question Answer Options
50. | smyee | RIRIGIRET ... B A O
in drawing, cylindricity is represented as ' 0.1
B. (@01 {A
C. | llo1|a
D. |[&y| o1
51. 13 udg g ... & GRT U &1 Siidl 81 A. 1/ Turning
High surface finish is obtained by B, TR/ Milling
: C. RS/ Grinding
D. ®ftiT/ Lapping
52. 507607 B TEETRT) e B A, 0.02
s001 B. 0,04
Tolerance of 50-0.02 js C. 0.01
D. 0.03
53. | Fafiad o 9 S IRdetd Tadaieia) & A 25701
Which of the below is a bilateral tolerance +0.1
B. 25+0:2
+0.1
. 25-02
+0.0
D. 25+02
54. | 100 FAL o @l o8] & Sabul i F de ¥ a4fis| A 20 B /mm
fara Sapaiict 94d g, STai 80 i, sy e fapan| B. 10 L Hl/mm
S gl 2 C. 55 dt/mm
In eccentric turning of a rod of 100 mm diameter, what| D. 15 F.Hl/mm
is the maximum possible eccentricity at which a
diameter of 80 mm can be turned
55. | fre YR @t WR1E BT VAT e S I P ST §1 | A, % @t/ Cenire lathe
| Which type of lathe is used for production work B. &9 W4/ Bench lathe
C. U P& W/ Tool room
lathe
D. Wa@?m/ Capstan

and turret lathe
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. 4. T IR fdeped
Q. No. Question Answer Options
56. % TG foRir 98 W 240 i, &1 R § a5 9w A, 60 il mm
foh1 =T ol YHIdY BT Yepal B B. 120 frrfmm
A lathe having a swing over bed of 240mm can| C. 240 T /mm
accommodate a component of maximum diameter equal| D. 480 f&. 8 /mm
to
57. |Fufdfed o O va 9 eeR Suee? 9l 8 A. HSS
Which of the below is the hardest tool material B. aﬂafss/ Carbide
C. RRfAes 1 Ceramic
D. 8T/ Diamond
58. [6° & B0 fba T Qb ey B A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
D. 2160
59. |14 e © 9 fre W S ftisa o =i A. I HRT
Which of the below operation requires higher spindle Thread cutting
speed B. a“r?@_m Boring
C. T/ Reaming
D. Ut Tapping
60. | Ueh WRIG WX YIeRT Wigl Ul & §IE i/ &1 §arl S| A. BRI/ Facing
gl B. YW €1/ Taper turning
An operation on lathe where the diameter is increased| C. PFT/ Reaming
after operation is D. @A/ Knutling
N2 EI%/Rough work
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XSS uY IR faweg
Q. No. Question Answer Options
1. |oftfR B gRT AU 9Rd 99, g @hd ged| A. 25.28 fHl/mm
osfirh. 3R 28 &t afER UwFT gET ©hd I Aq FRar] B. 25.14 A mm
3| IR @1 e B 0.02 A 31 AT R C. 25.56 A7/ mm
During measurement using vernier caliper, the main| D. 25.00 .7 /mm
scale reading is 25mm and the 28" vernier division
coincides with the main scale. The least count of the
vernier is 0.02 mm. The measurement is
2. | @ Iopfee Tum & R S & udsd G| A. 3 S EH /3 jaw chuck
Frafefad uely o1 Suar gar g B. ®Iae 9@ / Collet chuck
To set the work run eccentrically, the following| C. AGTgR / 4 jaw chuck
method is used to hold the job D. IWIK HIE T8l
None of the above
3. |FofifEe § S o a1 Sin o 1 uer g 8| A. STER BT 581 B
Which of the following is not a function of cutting To cool the tool
fluid B. oo ot e el
To flush away the chips _
c. Fa 3R TuRER & g § wu
DI SIGT B!
To increase the friction
‘between the chip & tool face
D. ®Td a%] & 381 HLAT
To cool the work piece
4. |EBTESEADI ....ceoe ERI §91 Sl 6 | A. $aIT / Concrete
Marking tables are made up of B. 3gfHH/ Aluminum
C. UL / Granite
D. SWRiad H Y PIS Tol
None of the above
5. U AR Wi ool orgeT sy 55/ § T HSS T | A, 190.98 SIR.ULTH/pm
Rraet ®few wihs 30 ez ufy e 3 gR1 g & fg| B. 1909.8 SR THApm
fRieqa Tie g C. 530,52 SIRULTHIpm
The spindle speed to turn a mild steel rod of diameter| D. 5305.2 R W/rpm

50mm using HSS tool with a cutting speed of 30
meter per minute is
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R e IR faeed
Q. No. Question Answer Options
6. |Gl 99T WedeR &1 dRe PI8T A 1°
The least count of vernier bevel protractor is B. 10°
C.1°
D5
7. MYAS .. R H1IT ST 8 A. TR ®Id/ Mild steel
Lathe bed is made of B. TI® e/ Cast iron
C. T8/ Titanium
D, 3gHAE / Aluminum
8. |UEE BT ®v R B A.
Side cutting edge angle is depicted in ﬁ )
ST
C.
D' \D
9, |FofuRed €@ &1 wd Si9 Bl AR ST ¥ 9 A. TS @RI/ Try square
Hia B & [AU g 8 B. WHISER/ Scriber
The following tool is used for setting the job| C. 93¢ WICHR / Bevel protractor
concentric to the machine spindle D. 9dg Tiel / Surface gauge
10, IM12 180 ARH R@ g1 &1 U 4........... &l A. 1.75@1mmm
The pitch of M12 ISO metric coarse thread is B. 1.00 f5.8/mm
C. 1.50 frdl/mm
D. 0.80 fAl/mm
1. 1a0g () R A8 &8 g9 & om g yare| A. SR/ Drilling
o IuA fSar st g B. I/ Reaming
Which operation on a lathe is used for making non| C. &I/ Boring
standard holes D. SR H AP T8l

None of the above
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.9, uy I e
Q. No. Question Answer Options
12. |Puffegd 39 G ufife g=a Rl A. PTH I §¢¢ B4
Which of the following is a positive drive Cross flat belt drive
B. AU JZd/ Rope drive
C. s g1%d / V-belt drive
D. %FTETQ’H/ Chain drive
13. | 3res) Haw e & 91y 98 SR & 6 &) 91 9| A, THR/ Reamer
31 B DI &g (oG PR I B. SIR¥ ¢/ Boring tool
The multipoint cutting tool which is used to enlarge| C. G ST/ Twist drill
and accurately size hole with good surface finish D. SWRied § I IS Aol
: None of the above
14. | 3iidiRe enival & iore, 4ial vamad 4 Ugd 96 & o0 | A, F91 o1/ Major diameter
... THH BT E1iBU B. ¥4 O/ Minor diameter
For internal threading, the hole diameter to be drilled! C. AEAa® A / Effective
before threading operation is equal to diameter
D. 3gd o / Average diameter
15, |@RIg W 3MaR® TR T & e fhw e e dfa| A, Sgea e dfa
BT IUTNT et fHar 51 G| Compound slide method
The taper turning method which cannot be used for| B. €0 e daus
internal taper turning on a lathe Taper turning attachment
C. 5 W e AR
Tail stock offset method
D. SREA AT DS T8
None of the above
16. At weded We.... FgHA ¢ A. T + a1e 39 @t T
In a multi start thread, the lead is equal to Pitch + number of starts
B. U4 /48 &t g
Pitch / number of starts
C. - A e @ gem
Pitch — number of starts
D. U9 x 9] 8F 1 &=
Pitch x number of starts
17. |\ g &3 2 - ) A =
‘ 11 2
Evaluate (E -2) B. ©
c. 2
5
D. 2

W
L
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U4 T IR faeped
Q. No. Question Answer Options
18. | @ifERy e § Fufefad urm ¥ o 91 - sl A. a”f?lﬁﬁf/Squarehead
A combination set doesn’t contain which of the below| B, ¥@/ Rule
part C. Wigaex ¥y
Protractor head
D, BIEE TS / Dial gauge
19, |eWR U 1:6 TG0 M1 §1 TgH W GG BivT| AL 1/6
BT ERET ..o Bl B, 1/18
The taper ratio is given as 1:6. The tangent of the| C. 1/12
compound slide swivel angle is given as | b 173
20. |PER IR Te Il & o 159 veR & {80 &1 39| A, N UBR/ Type N
fora S g1 B. HUSR/ Type H
For hard and tenacious material which type of drill is| C. S UPR/ Type S
used D. SWIG H Y D13 ol
None of the above
21. |t o o’ SR 99 o1 B 2 & o A GEH 8T T P 8 Y S
For a square of side ‘a” and circle of radius ‘a’ Area of circle is greater than
area of square
B. 1 1 &7 7 & &7 T rEl B
- Area of square is greater than
area of circle
C. %ﬁ &1 & AR 99 BT &8 T
[
Area of the square and circle
are equal
D. Wi H J BIg 78!
None of the above
22. |50, 70 3R 120 BT AW HIEH 8 A. 120
The arithmetic mean of 50, 70 & 120 is B. 240
C. 100
D. 80
23, U TR ! dis U W 4 g3 Uid 9 § 99 W] p SN /Driver 40
76" T B IS H1et I G R wqara F opguw| | Ldyorieen 70
..... g B Reworiven — 70
The change gear ratio to cut a thread of 7/16” lead on ¢, SRER/priver 70
a lathe with lead screw of 4 threads per inch * fga/priven 40
D. SR /Driver _ 70

8o

%EFI/ Driven
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04, Uy I faad
Q. No, Question Answer Options
24, 3R . %Wﬁ@g&ﬁﬁ@ﬂ%l A. WY &N / Minor diameter
3 wire method is used to measure B. 31U/ Major diameter
C. s g
Effective diameter
D. IWRIad # J PIE e
None of the above
25. |Ofd D ISTHNY B SR ‘¢’ BlET AN § 9IR L FEPT| 4 @rdx L
B T § 3R 7 SR T B S Wb Mpde 7| by
i gRT o <N & R sifpde . B B =
If ‘D’ is the bigger diameter, ‘d’ is the smaller; (= o-dx1
diameter, ‘L’ is the total length of job and ‘Z* is the - X 1
taper length. The offset for taper turning by tail stock D. R
offset method is given by '
26. |Ffifed #9999 IR urg ®E? A, BTREA / Magnesium
Which of the following is the heaviest metal B. 31?1&]7-!‘33{ / Aluminum
C. dI€l/ copper
D. WS /lead
27, |U% g B Boul WS et 9 &1 710 240 f3 3| A, 1.92nm?
3R Brsar 2.4 Hiex & ) ST SFwd T g B. 11.52zm’
The area of the sector of circle that has an arc| C. 2.88nm’
measuring 240 degrees and a radius of 2.4 m D. 3.84x m’
28. [ UEYS H T SATARE BIL........ 1 A. 60°
The internal angle formed in a pentagon is B. 72°
C. 45°
D. 120°
29, R e W?{ﬁ?%l A. @/Distance
Newton is the unit of B. qld/ Pressure
‘ C. &/ Force
D. $e/ Energy
30, |[YR TR A B IF P A. BURHF | Negative
For heavier depth of cut, the rake angle is B. ¥/ Zero
C. UDHRIHE / Positive
D. SWRed 8 Y HIE T8l / None of

the above
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7.9,

Q). No.

Yy
Question

IR fawey

Answer Options

31.

AR 89 & oMY & {10 g Iugad HAHE ST
The standard tool used to measure the diameter of an
internal recess '

©

gitfr BRR

Vernier caliper

gie fag offdRe ArghiHieR
Five point internal micrometer
SR TS

Dial gauge

diF farg sifaie AgeidicR

Three point internal micrometer

32,

HT: e g H @ ¥ Y ... gRISIST ol g

Generally tool bits are joined to the tool shank by

0w p

m / Adhesive
aicl:s"‘T /Welding
Tla} 99 / Silver brazing

. AR/ Soldering

33.

A S FaRE3uE T ... gdarg

Preventive maintenance of machine involves

>

afiF iR JuS0T BT g
e

periodic inspection of machine
and equipment

JATES S & TR W
lubrication as per manufacturer
instructions

7l % SfaRin oik o Aea
servicing & overhauling of
machines

TRl gt

all of the above

34.

Ufgers ] ufeuTe 81

Stress is defined as

TS x YR HIT BT GABA

Load x area of cross section

g x YHY
Force x time

El?’fxfc\"\?f

Force x distance
TS / YR PIC BT &Ah

Load / area of cross section

35.

YIq B! PICd YU AFDG AS B URIY B B
Al F OB HEd 8|

The property of a material to resist sudden load during
metal cufting is termed as

DS gre g

Cold hardness

TS gre

Red hardness
THAY

Toughness

Brittleness
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0.4, Ty TR fapey
Q. No. Question Answer Options
36. | af P TR 40 Hiet UfAfte § oIk ST WIg 0.5| A, 3.14 TFe/minutes
Ul 9ol 31 ST &1 U@ Tl ot s 400 Hiex| B. 5.41 WCminutes
3R =g 50 A & R ue gf Pe & R smamge| C. 1.25 WFciminutes
T a1 B8R D. 1.53 fBFc/minutes
If the cutting speed is 40 meter per minute and the ‘{
tool feed is 0.5 mm per revolution. The time required
for one complete cut on a piece of work 400mm long
and 50mm diameter is
37, |WMrgE: 88 ¢Y Ye # Fofafeg Ten A tugmfap gl | A. 6
Generally hand tap set consists of following number! B. 3
of taps C. 1
D. 2
38, |PRR%E A. B a%g BT ST
Follower rest Follows the workpiece
B. JUIHT BT HFHT
Follows the tool
C. WG AHYR W A
Fixed to the lathe bed
D. 30 ¥IP W e
Fixed to the tail stock
39.  |FEfafed § & o uig SRR IRl B A ST
Which of the following is a non metallic tool material High speed steel
B.
Ceramic
C. I Plad €l
High carbon steel
D.
Stellite
40. | RITR IC HERE: ............ & forg Sugea A, IR DI UHSH
A steady rest is generally used for Holding the tool
B. Gy R Udd sl g F e
fere wrgrere

Support for turning long &
slender workpeice

EEZX-EU

Eccentric turning

ST qK DI KA

Clamping of workpeice
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KA uy IR fgmed
Q. No. Question Answer Options
4], |FufRed @ Jug R Y yafdag 2 A. Sl / Jamno
Which of the following terms are associated with| B. TR/ Morse
taper C. 137 99Y/ Brown & Sharpe
D. Wi 94/ All of the above
42, [9T@ e, BT gl A, GO x 3T
Density is defined as Mass x volume
B. qoUH / ATddH
Mass / volume
C. GHM + 3dq
Mass -+ volume
D. A - AT
Mass — volume
43, |9iad FRR @1 SUGNT UY Q9 & ol &oll & SO0 & | A, FHIAIR / Parallel
oG TR g § S e .. BT B. 9% - &7/ Co-axial
Bevel gear is used to transmit power between shafis| ¢ % %101 4R/ At an angle
which are D. SWEd # I FTE 5!
None of the above
44, |<ig Forge 99 BSTr o 3R TWTE b § BT MGG | 4 iR
B! L
....... A
'Volume of a cone of base radius ‘r* and height ‘h*is | B. m; :
C. nréh
nrih
D. —
45. | ameEy H RifrdifRe ... 71
In drawing, cylindricity is represented as Ol 01
B. @]o1 | A
¢ dlo1{a
D. Ly| o1
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u.g, 0y IR fawen
Q. No. Question Answer Options
46.  |Frafeiea wrl 7 § i ®w waxd sa AT S A 2w
ferg fopar ST B Titanium
Machining of which of the following material requires| B. SFRIH el
less cutting force Stainless steel
- C. SegHMH
Aluminum
D. e gl
Cast iron
47. W s o1 fgrarg 1 A. AR aw
Brass is an alloy of Tin & copper
B. 3egHHH g THRIH
Aluminum & Magnesium
C. R Niw
Copper & zinc
D. feqafeiw
Tin & Zinc
48, (9T fsa HTfag HI0L...... B A. 90°
The point angle for a standard drill is B. 118°
C. 108°
D. 125°
49, ﬁm@aﬁﬁm@wﬁaﬁ(@%ﬁ B T A, @S ad
fafr 7 SuzRT =1t fobar o weal © Mineral oil
Which of the below lubricant cannot be used in splash| B. 9/ Grease
method of lubrication C. gt (ﬁl:aﬁfﬁ) qd
Synthetic oil
D. Uit 7 (AT do)
- Animal oil
50. 500 ASHM ......... & GHH B A. 0.2 5l /mm
500 microns is equal to B. 0.2 ¥.Hl/cm
C. 0.5 ffdt/mm
D. 0.5 ¥ 4di/cm
51, |6° F T H forae Adsa g A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
D. 2160
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03 Ty IR [dbey
Q. No. Question Answer Options
52, |U® TRIE R YEIH S8 WAF & 91 A B 9611 A, BRI/ Facing
I B B. YW T/ Taper turning
An operation on lathe where the diameter is increased! ¢, Jfaf/ Reaming
after operation is D. &AM/ Knurling
53, |U @UE o 98 WR 240 i dl w1 g 95 S=an| A, 60fHL/mm
T oI ) TG R TPl Bl B. 120 A H /imm
A lathe having a swing over bed of 240mm can| C. 240 f#lL/mm
accommodate a component of maximum diameter| . 480 &t /mm
equal to
54, | 505002 B TEAETR) oo 3 A 0.02
+0.01 B. 0.04
Tolerance of 50-0.02 is C. 0.01
D. 0.03
55, |3 OaE R, & GRT W DI Sl g A. TFT/ Turning
High surface finish is obtained by B. 8T/ Milling
C. WEIET/ Grinding
D. ot/ Lapping
56. |[f@d DR @ TR PT WM SAGT PRI H A Il A, % @axT/ Centre lathe
H B. &9 a3/ Bench lathe
Which type of lathe is used for production work C. 3JUEh? FE W33/ Tool room
lathe a
D. U @ gi¢ WaxT/ Capstan
and turret lathe
57, |Fafafad # § e TEdewd JediEioR) § A pETot
Which of the below is a bilateral tolerance ' +0:1
B. 25+0.2
+0.1
C. 25-0z
+0.0
D, 25+0.2
58. fEfea & S 99 9 HoR SR 9yl 81 A. HSS
Which of the below is the hardest tool material B. &Talgs/ Carbide
C. T / Ceramic
D. 8RT/Diamond
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7.4, Y IW fddey
Q. No. Question Answer Options
59.  |F% vereH § 9 o | 9= fis 4 Enigal A. g3 HRA
Which of the below operation requires higher spindle Thread cutting
speed ' B. &I/ Boring
C. Qof&'FT!Reaming
D. <ty Tapping
60. | 100 . o @t B & Sl T A T O ofde; AL 20 W dl/mm
fpat Iapaliie! ¥Ha §, Sl 80 AL = &1 | B. 10 MHl/mm
foba 7 gpar g C. 5 od/mm
D. 15 Adt/mm

In eccentric turning of a rod of 100 mm diameter,
what is the maximum possible eccentricity at which a
diameter of 80 mm can be turned

I% gbh /Rough work
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U4 Y IR fgped
Q. No. Question Answer Options
1. |O1Es B U v R B A.
Side cutting edge angle is depicted in Ej
S
C.
D. E
2. |MI121SO BRE R@ gl &1 U4........... 21 A. 175805 mm
The pitch of M12 ISO metric coarse thread is B. 1.00 {4t /mm
C. 1.50 T dt/mm
D. 0.80 4 /mm
3, |FufafEd ca o1 wa Sig o g RUSa 9 98] A. 918 WBIER/ Try square
%@amﬁ?ﬁﬁmm% B. TBIER / Scriber
The following tool is used for setting the job| C. §ad Wgdex / Bevel protractor
concentric to the machine spindle D. Idg TS / Surface gauge
4. |Foffea o o W ST Ra BT USRI T8 8 A. SUTHR Bl G531 BT
Which of the following is not a function of cutting To cool the tool
fluid B, e @ wa=r e
To flush away the chips
c. 9 IR IueHR & Taeg o auur
D TG HAT
To increase the friction
between the chip & tool face
D. &1 o] Pl ST B
To cool the work piece
5. |ofthr BRTR gR1 AU $Ra 999, T ©d Ued| A. 25.28 Hl/mm
o584, 3R 28 g AR wuT T Wha § A9 ®ear| B. 25.14 i /mm
21 9ffR &1 ofike BT 0.02 mm §1 WG § C. 25.56 1 Hl./mm
D. 25.00 frdl/mm

During measurement using vernier cahper the main
scale reading is 25mm and the 28" vernier division
coincides with the main scale. The least count of the
vernier is 0.02 mm. The measurement is
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7.4, Uy IR ey
Q. No. Question Answer Options
6. |VUSS ..o RIS S 5 A. FIEeS €I/ Mild steel
Lathe bed is made of B, 9% TEl/ Cast iron
C. T3eH / Titanium
D. SegHM / Aluminum
7. | ARG Wi we! e o 550, § B Hss go| A, 190.98 SRULTH pm
forge! i wis 30 Hiex ufd fAFe § §RIgHR & fag| B. 1909.8 SM.ULGH.Apm
Sea s aml C. 530.52 3R.ULEH.rpm
The spindle speed to turn a mild steel rod of diameter| 1. 5305.2 3R.UL.TH./rpm
50mm using HSS tool with a cutting speed of 30
meter per minute is '
8. B2 C 0] I [ 0 A ST T o 81 A. HERIC/ Concrete
Marking tables are made up of B. ST / Aluminum
' C. { Granite
D. SRIE & JFIs ol
None of the above
9. | 9fRR 999 WiaeR T Wk BI3T A 1°
The least count of vernier bevel protractor is B. 10’
C. 1’
D. s
10. |9 P Iehlsd daH & (A€ Sid B THeT 8g| A. 3 IB /3 jaw chuck
fFrafaRad gkl o1 Sugr giar g B. Sidc & / Collet chuck
To set the work run eccentrically, the following| C. 4 dF /4 jaw chuck
method is used to hold the job D. SR ®I% 8]
None of the above
11, |srfaRe uial & forg, uiival veeH 9 usd 8¢ $T3™| A, 981 3™/ Major diameter
... GO BT 98T B. WY ¥/ Minor diameter
For internal threading, the hole diameter to be drilled| C. dIrfd® SR/ Effective
before threading operation is equal to diameter
D. 3¥d SR/ Average diameter
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7.4. e I fdod
Q. No. Question Answer Options
12. |3 3R T Il & forw fpw veR & f&@ H19UANT| A. NUSR/ Type N
fen e B B. HUSR/ Type H
For hard and tenacious material which type of drill is| C, S UPR/ Type S
used D. SR H Y FE Tl
None of the above
13. [Tt wredsd de.. FEar el A. To + I/ 8 &1 980
In a multi start thread, the lead is equal to Pitch + number of starts
B. U=/ 98 & 9=
Pitch / number of starts
c. o9 -9 e @t gen
Pitch —number of starts
D. U x T:ﬂﬂﬁﬁ Eakstesll
Pitch x number of starts
14, |[ERTE (@F) W AF-ee ¢ g % e e vare| A, fgRi/ Drilling
T FUGI far ST § B. f/ Reaming
Which operation on a lathe is used for making non| C. AT/ Boring
standard holes D. SRFFH Y HIs T8l
None of the above
15, |ored) wee finforer & Ay et e & B B &M S| A. AHR/ Reamer
ST A T 9g fag R STER B. SIFTEd/ Boring tool
The multipoint cutting tool which is used to enlarge| C. feeRe {g&/ Twist drilt
and accurately size hole with good surface finish D. IWigd o Y BIE T8t
None of the above
16, | de d Fafafed a8 3 ol 91 TE A. Tt =fié/ Square head
A combination set doesn’t contain which of the below| B. %</ Rule
part C. Hieaex oY
Protractor head
D. Srsd e / Dial gauge
17. FofafEad ¥ e 9 ufifea gea 8 A, P TT 9t gIRd
Which of the following is a positive drive Cross flat belt drive
B. U ¥4/ Rope drive
C. di-dcc gled / V-belt drive
D. 99 g¥d / Chain drive
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Q. No. Question Answer Options
18, wmmﬁmﬁzﬁn%ﬁqméﬂ?fﬁhﬁﬁ A, gFd e S
1 FUU g fobar =i gebal Compound stide method
The taper turning method which cannot be used for| B. ¢WR T Tews
internal taper turning on a lathe Taper turning attachment
C. <3a T Sfpae A
Tail stock offset method
D. IWiG AP Tl
None of the above
19, | & 5 - ) A
Evaluate (— - —) B. 2
5 7 7
c 2z
12
D. =
20. (TR SFUIT 1:6 o WA §1 WYE WEH gHS B| A, 1/6
BT IR ........... BHT B. 1/18
The taper ratio is given as 1:6. The tangent.of the] C. 1/12
compound slide swivel angle is given as 1 D13
21, |U% 99 B o G forget gaiw &1 A 240 f&tlt 2| A, 1.92nm?
3R o9 2.4 HieR § 6 9T Sl @ gl B. 11.52nm’
The area of the sector of circle that has an arc| C. 2.88mm’
measuring 240 degrees and a radius of 2.4 m D. 3.84n m’
22, |4 D SSTHN G IR @ DT HHG SR L dHPT| 4 PDXL
el Tl § 3R 1 SR S Bl S Wb AT HINA, iy,
< g1 e T & forg sifpde ... B T
If ‘D’ is the bigger diameter, ‘d’ is the smaller| o 2=DX!
diameter, ‘L’ is the total length of job and ‘7" is the (Dwé‘) X1
taper length. The offset for taper turning by tail stock D. T
offset method is given by
23, ARSI ..o a?nm:rﬁwgaaaﬁﬁrrcﬂ%l A. Y T/ Minor diameter
3 wire method is used to measure B. 937 &AM/ Major diameter
C. dar«ifde s -
Effective diameter
D. SR H I BIE 7

None of the above
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0.9,
Q. No.

™
Question

SENECTE

Answer Options

24.

7 % U < 3R T &1 BT 2* & o

For a square of side ‘a’ and circle of radius ‘a’

g FT 89 I & &7 A ST B
Area of circle is greater than
area of square

1 T 43 79 & &7 A a3
Area of square is greater than
area of circle

%ﬁwaﬁaﬁ?ﬁwﬁaw
s

Area of the square and circle
are equal
SR H Y HIE e

None of the above

25,

50 , 70 3R 120 1 GRHS HIHH B
The arithmetic mean of 530, 70 & 120 is

120
240
160
80

26.

YT TTeX PR BT 3% HI0T 3

For heavier depth of cut, the rake angle is

DomplUowy

FUHHD [ Negative

R/ Zero

XD RIHD / Positive
W@aﬂﬁ@faﬂéqﬁl/lﬁone of

the above

27.

UAYS H & SHARS B.......... B

The internal angle formed in a pentagon is

Oow >

60°
72°
45°
120°

28,

T e gl e T R4 IR TIT R
7/16” WIS DI &I HTe & fau MR Sgae § offurd

The change gear ratio to cut a thread of 7/16” lead on
a lathe with lead screw of 4 threads per inch

U0 ow op

GIRd /Driver _ 40
%aﬂl/Driven 70
GIER /Driver _ 80
Eaﬂ/Driven 70
§IzaY /priver _ 70
l%aﬂ/ﬂriven 40
SRAY /Driver _ 70

T§g3/Driven 80

29.

affge d ¥ ae ¥ Uk g w7

Which of the following is the heaviest metal

Cows

FIRET/ Magnesium
ST / Aluminum

TI&T / copper
dS / lead
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udg.

Q. No.

Ik
Question

I fdweg

Answer Options

30.

L2 (<5 (O F1 g Bl

Newton is the unit of

A.

ocaw

' @/ Distance

qld / Pressure
o¢ / Force

St/ Energy

31

frafefEd 9 P o oTg ST T 81

Which of the following is a non metallic tool material

>

3= Tl e
High speed steel
SHEET

Ceramic
I HIET B

High carbon steel

ware

Stellite

32.

W%ﬁwmﬁ ...... glarg

Preventive maintenance of machine involves

i

T SR SUSRTT FT Safs
e _
periodic inspection of machine
and equipment

JIed SIERN & SIHR Hed
lubrication as per manufacturer
instructions

7 &t iR ofik ot IRum
servicing & overhauling of
machines

SRIeT GHt

all of the above

33.

YTy &Y PIRY T SANT S B ARRY B B
el & U ..o FEd 8l

" | The property of a material to resist sudden load during

metal cutting is termed as

PHIES FSd

Cold hardness

. SFE

Red hardness
THEA

Toughness

Brittleness

34.

fg o T 40 Hiex wfafime § iR SwmaR wig 0.5
U o &1 WS &1 Ue gobel e el 400 HieR
3R = 50 AL 8 W we gl & & g sravgs
e faa g

If the cutting speed is 40 meter per minute and the
tool féed is 0.5 mm per revolution. The time required
for one complete cut on a piece of work 400mm long
and 50mm diameter is

oWy

3.14 fiAe/minutes
5.41 fHe/minutes
1.25 fFe/minutes

. 1.53 fFeminutes
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ud,

Q. No.

uy
Question

IR famey

Answer Options

35.

ufaed o aRyTST §1

Stress is defined as -

TS x SR BT BT dTHA
Load x area of cross section
ol x HHY

Force x time

aﬁx@

Force x distance

TS / SR PHIE HT 8IHT

Load / area of cross section

36.

A T [0y 1 g6 SD 9 ... GRT ST ST 81

Generally tool bits are joined to the too! shank by

CNw>

3TETP / Adhesive
AfTET/ Welding

TIgT oIS / Silver brazing
T/ Soldering

37.

SiaRe {89 & ard o AU g SUgad HME ST

The standard tool used to measure the diameter of an
internal recess

>

<

LRI

CIUEREAT BN

Vernier caliper
Five point internal micrometer
Dial gauge

A fomg ofiafve aR®HeR

Three point internal micrometer

38.

A 88 °0 I | FafiRed sen § 2u guifaw 31
Generally hand tap set consists of following number
of taps

6
3
1
2

39.

R ¥ AR & foTe Suga

A steady rest is generally used for

w

> oW

UL DI b

Holding the tool

¥ SR e BT g b T
e weTren

Support for turning long &
slender workpeice

Qb eff

Eccentric turning

FT g BI FaAfT

Clamping of workpeice

Page § of 14




TE 11 (Turner) : Series — D

7.9, WY IR fadvey
Q. No. Question Answer Options
40, |BIAER T A. BT T BT SFTA
Follower rest Follows the workpiece
B. SUEHI BT HJTHA
Follows the tool
C. WG 3R W 3dd
Fixed to the lathe bed
D. ¢G50 KP WA
Fixed to the tail stock
41, |Frofafad gl § 4 foad &9 wow ga a1 & A, oy
foTq fopa S g1 Titanium |
Machining of which of the following material requires| B. SRl @€a
less cutting force Stainless steel
: C. 3egHiHT
Aluminum
D. o el
Cast iron
42, [Pyfefed 7 9 fog o 1 957 (@faewm) @ wWy| A, @R e ag
fafey & Soarr 78t fovar < e § Mineral oil
Which of the below lubricant cannot be used in splash! B, W9/ Grease
method of lubrication c. dxrdl (RRfe®) o
Synthetic oil
D. U d4 (A a9
Animal oil
43, |omiee A Riferdifdt .. &
In drawing, cylindricity is represented as A [Ofox
B. |®]01|a
C. |llo1|a
D. [£y| o1
4. | e IR T SUUIT T W0 & &9 Soll & WUN0 &5 | A, GHFIER / Parallel
I R R IR G EGE] B. UE - 31§71 / Co-axial
Bevel gear is used to transmit power between shafls| ¢ U $)UT U/ At an angle
which are D. IR H Y B

None of the above
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U,

Q. No.

A
Question

IR fawey

Answer Options

45,

wgﬂmaﬂﬁwr 3N TS b § P ST
....... I
Volume of a cone of base radius ‘r” and height ‘b’ is

oSow »

nrih

nrih

nr*h
nreh
5

46.

T 3 T g H1....... B

The point angle for a standard drill is

SOy

90"

118°
108"
125°

47.

e AP Y Ug TR Y Hela g ?
Which of the following terms are associated with
taper

TNw»

S/ Jarno
ARt/ Morse
139 G TMY / Brown & Sharpe
IWRIad Gt /7 All of the above

43.

& THA B
500 microns is equal to

SEeY- IS

0.2 T dt/mm
0.2 ¥ Hdt/em
0.5 9L /mm
0.5 ¥ /cm

49,

L5 [ ORI T firsreng g1

Brass is an alloy of

>

fe ofk am
Tin & copper

q
Aluminum & Magnesium

. Ay 3R i

Copper & zinc

feqafsie
Tin & Zinc

50.

PR I SR
Density is defined as

GOIHTT x HTOdd
Mass x volume

S/ 3HTadd
Mass / volume -

GOUHM + HRIAH

Mass + volume
Mass — volume
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4. Yy I [dwey
Q. No. Question Answer Options
5]_ +0.01 o~ A 0.02
50-0.02 P GEIHCTANE) o.vovveeren, '
{('0.01 g B. 0.04-
Tolerance of 50-0.02 is C. 0.01
D. 0.03
52. Fufif@a & 3 o argded gReiEiony) § A 2503
Which of the below is a bilateral tolerance +0.1
B, 25+0.2
+0.1
C. 25-0z2
+0.0
D. 25+0.2
53, |U% ©RIC W UREITEH 81 T & 916 N I 961 A. BRI/ Facing
ST 3 B. VQTR' cf7/ Taper turning
An operation on lathe where the diameter is increased| C. JfHT/ Reaming
after operation is D. / Knurling
54, (Fofafea ¥ 9 99 T HoR ST 9l ¢ A. HSS
Which of the below is the hardest tool material B. H?I_G!’T%TS'/ Carbide
C. fuffe 1 Ceramic
D. BRT/Diamond
55. |100 fo.HI. mﬁ%@%eﬁfﬁh 7 g9 9 i | A 20 A l/mm
ferdt Tep-a e Tyg §, wigl 80 fr el =ow & = B. 10 L dl/mm
forat o G o C. 5 fadt/mm
In eccentric turning of a rod of 100 mm dxa_meter, D. 15 B d/mm
what is the maximum possible eccentricity at which a
diameter of 83 mm can be turned
56. |9=r Tas R, & GENT U B el ¥l A. e/ Turning
High surface finish is obtained by B. faf¢T/ Milling
- C. WEfEN/ Grinding
D. wft !/ Lapping
57. 759 UBR 3 TRIE 31 YA Ided R § 59 11| A. % @ERT/ Centre lathe
%I B. &9 Wa3/Bench lathe
Which type of lathe is used for production work C. SUHY ©& Wl / Tool room
lathe
D. T G e WexT/ Capstan

and turret lathe
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u4. Ty I faded
Q. No. Question : Answer Options
58, |frg vare 8 4 fg 7 o Rdsa an =nfgul A. TS BRA
Which of the below operation requires higher spindle Thread cutting
speed B. ST/ Boring
C. 3T/ Reaming
D. ¢t Tapping
59. |6 F P H e JHSU B A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
D. 2160
60. | s e Rreds 3 WR 240 iyl &1 fim ¥ 98 Iaaw| A. 60 fHHL/mm
fop g ST 1 AL PR Hepell B B. 120 frdl/mm
A lathe having a swing over bed of 240mm can| C. 240 I HL/mm
accommodate a component of maximum diameter| D. 480 A /mm
equal to
R ﬁ/Rough work
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Revised answer key

ISRO SATELLITE CENTRE
Revised answer key of the answer key published 02022/2016 for the written
test for selection to the post of Technician-B (Turer) held on 27/11/2016.

(Advt. No. ISAC.02:2016 — Post No :TE11)

| Answer Key |
| SeriesA || SeriesB || SeriesC || SeriesD |
Question || Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
L o1 | b Lo | ¢ Jj o1 | ¢ J| o1 | B |
02 | C | NN | 02 | c || 02 | A |
L 03 | ¢ J|o | A JJ o3 | ¢ || 03 | D |
| 04 | D || o4 | D J 04 | C || 04 | C |
| 05 | A J[ 05 | B | [NNCSHNMESN o5 | c
L 06 | ¢ J| o6 | ¢ J| o6 | b || 06 | B |
L o7 | B | or | ¢ | o7 | B | IECENNN
INOERNIN | os | B || 08 | B || 08 | C |
L 0 | B J| 0 | ¢ J] o9 | o J| 0 | D |
. 10 | ¢ JJl10 | b Jj 10 | A J] 10 | € |
1 | 8 11 | ¢ 1] c |11 | B |
12 | A J| 12 | b J| 12 | D || 12 | B |
. 13 | B J| 18 | ¢ J| 18 | A || 18 | D |
14 | ¢ || 14 | o || 14 | B || 14 | C |
15 | ¢ J|3 | oA J 15 | ¢ || 1 | A |
. 16 | A J| 1 | B || 16 | D || 16 | D |
17 | b Jl 1w | ¢ J 17 | A | 17 | D |
. 18 | b J| 18 | B || 18 | D || 18 | € |
19 | ¢ 1 | A J 19 | ¢ |19 | A |
. 20 | b J| 2 | b j| 2 | B || 20 | C |
21 | ¢ |2 | b J| 2 | A J| 2 | D |
L 22 | ¢ J| 22 | ¢ | 2 | b J| 2 | B |
. 23 | b || 28 | B || 28 | ¢ || 28 | C |
24 | A |24 | ¢ || 2 | c || 24 | A |
. 2 | B |2 | A || 2 | B || 2 | D |
. 26 | D J| 2 | B || 26 | D || 26 | A |
L 27 | ¢ J| 27 | ¢ || 2 | o || 22 | B |
. 28 | A || 28 | b || 28 | B || 28 | C |
L2 | B |2 | A J| 2 | ¢ || 2 | D |
| 0 | b JJl 3 | o JJ 3 | A J|] 30 | c |

Page 1 0of 2




Revised answer key

|  SeriesA || SeriesB ||| SeriesC | | SeriesD |
Question | Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
. 31 | ¢ J|. 3 | b j| 3 | o J| 3 | B |
. %2 | b || 3 | B J| 3 | ¢ || 3 | D |
. 8 | B J| .3 J ¢ || 88 | b J| 38 | C |
. 34 | A |34 | B || 3 | D || 3 | A |
. % | B || 3 | B || 3 | ¢ || 3 | D |
| 3% | B || 3 | A || 3 | A || 3 | C |
. 3 | b J| 8 | B J| 8 | B || 3 | D |
. 38 | B || 38 | ¢ || 3 | B || 38 | B |
. 3 | b || 3 | b J| 3 | B || 39 | B |
| 4 | ¢ || 4 | b j| 4 | B || 4 | B |
.4 | b J| 4 | B | 4 | o | 4 | C |
42 | oA |42 | ¢ || 4 | B || 42 | B |
. 4 | B || 4 | D || 4 | C || 4 | D |
4 | ¢ || 4 | B || 4 | A || 4 | C |
| 4 | ¢ || 4 | B || 4 | D || 4 | A |
. 46 | B || 46 | A || 46 | Cc || 46 | B |
47 | B || 4 | ¢ || 4 | ¢ || 4 | D |
. 4 | ¢ || 4 | ¢ || 48 | B || 48 | C |
| 49 | Do || 4 | ¢ || 49 | B || 49 | C |
. 5 | ¢ J| % | b j|l s | ¢ || 5 | B |
. 51 | b J| 5 | b j| s | A J| 5 | D |
. 52 | B || 5 | b J| s | D || 5 | C |
| 58 | b || 5 | ¢ || 8 | ¢ || 5 | D |
. 54 | ¢ || | B || 54 | D || 5 | D |
| 5 | Db J| 5 | b J| 8 | b || 5 | B |
| 56 | A || 5 | ¢ || s | D || 5 | D |
. 57 | B J| 5 | b J| s | ¢ J| 5 | D |
. 58 | ¢ || 58 | A || 58 | b || 58 | B |
| 59 | b || 5 | B || 5 | B || 5 | A |
| 60 | D JJ 60 | o | 6 | B || 60 | C |

X — Question cancelled
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